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PRAC.'ICA 3 DINAMICA

SEGUNDA LEY DE NEWTON
CURSO: QUINTO

Calcular la aceleracién en cada caso. 6

1 12[N]
4kg —>

A)1[m/s?’] B)2[m/s?] C)3[m/s’] D)4[m/s%] A)1[m/s’]  B)2[m/s’] C)3[m/s’] D) 4 [m/s%]
> 4[N] 6[N] 7
< 2 kg =

&

A)1[m/s?’] B)2[m/s?] C)3[m/s’] D)4[m/s?]

. 2[Nle—] 40 | 4LV]
6[N]< g —> Alm/s?]  B)2[m/s?] C)3[m/s?] D)4 [m/s]
& 8.
A)1[m/s?] B)2[m/s’] C€)3[m/s?] D)4 [m/s?] 4N
4, 6N m=14,4[kg]
4Nle— gpo | oLVl 6[N]
8[N]€— —>3[N]

/7
* A) 0,6 [m/s?] B)05 [m/s?] C)0.4[m/s?] D)0,3[m/s]

A) 0,6 [m/s°] B) 0,5 [m/s°] C) 0,4 [m/s?] D) 0,3[m/s%]

4[N] 3[N]
—

—>2[N]

A) 0,6 [m/s°] B) 0,5 [m/s°] C) 0,4 [m/s?] D) 0,3[m/s%] A) 2 6 [m/s’] B)2,5[m/s’] C)2,4[m/s’] D) 2,3[m/s°]






